Question 1: Reagent for sulfuric acid and sulphate salts
Question 2: Identify salt chloride

Question 3: For copper to dilute sulfuric acid solution

Question 4: Give 11, 2 grams of iron to the hydrochloric acid. The volume of gas obtained at standard conditions is

Question 5: Standard conditions have characteristics

Question 6: Add a solution containing 8 grams of sodium hydroxide solution to 47.5 grams of magnesium chloride. The residue after the reaction

Question 7: Give copper oxide hydrochloric acid. Create a solution

Question 8: Ore containing alumina

Question 9: Add aluminum chloride to sodium hypoxide. The following reaction is

Question 10: When ferromagnetic oxide gets into the hydrochloric acid, it gets the salt

Question 11: For CO flow through porcelain tube containing 0.04 mol of mixture A consisting of FeO and Fe2O3 heating. At the end of the experiment, B contained 4.784 grams of weight. When leaving the porcelain tube for absorption into the Ba (OH) 2 solution residual obtained 9.602 g of precipitate. On the other, dissolve the solid B with dd HCl and see that it releases 0.6272 liters of H2 gas.
    a. Calculate the percentage of oxide in mixture A
     b. Calculate the mass% of substances in B, known in B
  have nFe3O4 = 1/3 Σ nFeO and nFe2O3
	The sentence
	Answer
	Point

	1
	Barium salts
	5

	2
	Silver salt solution
	5

	3
	no phenomenon
	5

	4
	4,48 liter
	5

	5
	00C, 1 atm
	5

	6
	magnesium chloride
	5

	7
	copper chloride
	5

	8
	bauxite
	5

	9
	NaAlO2 và H2O
	5

	10
	iron (II) chloride
	5

	11
	
	

	a
	We have 0.04 mol hh A (FeO and Fe2O3) + CO → 4,784 hh B + CO2
      CO2 + Ba (OH) 2 → BaCO3 ↓ + H2O
    0.046 mol 0.046 mol
nCO2 = nBaCO3 = 0.046 mol and nCO = nCO2 = 0.046 mol
Applying the law of conservation of mass, we have:

mA + mCO = mCO2 + mB

=> mA  = 4,784 + 0,046.44 – 0,046.28 = 5,52 (g)

Set nFeO = x mol, nFe2O3 = y mol in mixture B, we have:

                            x + y = 0,04                     x = 0,01 mol

                           72x + 160y = 5,52    →    y = 0,03 mol         
                                       0,01.72

=> %mFeO =                   x 100%   = 13,04%
                                           5,52

%mFe2O3 = 100 – 13,04 = 86,96%


	25



	b
	nH2 = 0,028 mol

Fe + 2HCl → FeCl2 + H2↑

According to the equation we have: nFe = nH2 = 0.028 mol
According to a, there are 0.01 mol FeO, 0.03 mol Fe2O3 => total molar initial 0.07 mol.
Mixture B: 0.028 mol Fe, FeO2, Fe2O3, Fe3O4
Applying the law of preservation of iron elements has:

a + 2b + 3c = 0.07 - 0.028 = 0.042 (1)
Again: a / 3 + b / 3 - c = 0 (2)
   72a + 160b + 232c = 4,784 - (0.028.56) = 3,216 (3)
From (1), (2) and (3) we have the system PT: a + 2b + 3c = 0.042
                                                    a / 3 + b / 3 - c = 0
                                                    72a + 160b + 232c = 3,216

The system is tested: a = 0,012; b = 0,006; c = 0,006
We have the percentage of mass in B as follows:
% mFeO = 18.1%; % mFe2O3 = 20%; % mFe3O4 = 29.1%
% mFe = 100 - (18.1 + 20 + 29.1) = 32.8%

	25
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